
Figure 9-5  Printer right-door assembly

B 

A

B

C

A D

(J2303)

(J1945)
(SR15)

(J1939)

(J1945)
(J2303) (J1941)

(J1950)
(SR303)

SEE Multy-purpose paper
-pickup assembly

SEE Multi-purpose
tray assembly

C
D

SIMPLEX TYPE

SEE Duplexing-feed assembly

DUPLEX MODEL

DUPLEX MODEL

*A01

*A02

*A02

*A03

*A15

*A17

*A16
*A14

*A13

*A18

*A38

*A31

*A35
*A41

*A33
*A36

*A39

*A37

*A30

*A43

*A44*A08
*A50

*A49

*A48

*A47

*A46

*A45

*A34

*A22

*A19

*A24
*A20

*A08

*A21

*A26

*A42

*A23

*A05
*A07

*A10
*A11

*A09

*A06

*A12

*A27

*A29

*A08

*A08

*A32

*A08

*A28

*A04

1

501

46

6

7

3

501

2
5

*A40

*A25

790 Chapter 9   Parts and diagrams ENWW



Table 9-3  Printer right-door assembly

Ref Description Part number Qty

1 Cover, multi-purpose blanking RC1-8527-000CN 1

2 Right-door sub-assembly RM1-3333-000CN 1

3 Cover, motor RC1-9511-000CN 1

4 Support, door-cover (simplex) RC1-9014-000CN 1

5 Screw, RS, M3X6 (duplex) XA9-1495-000CN 1

6 Screw, with washer, M4X12 XA9-1422-000CN 2 (simplex)

6 Screw, with washer, M4X12 XA9-1422-000CN 4 (duplex)

7 Guide, duplexing-feed, upper (duplex) RL1-1335-000CN 1

501 Screw, tapping, truss-head, M4X10 XB4-7401-005CN 7

NOTE: Only highlighted parts are orderable.

ENWW Printer 791


